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125 Questions

Que. 1 Shadows are formed when a/an object comes in the path of light.
1. Opaque
2.  Transparent
3. Luminous
4. All of the above
Correct Option - 1

Que. 2 Name the disinfectant that is used to purify water after it has been lodine-treated.

1. Potassium
2. Iron
3.  Vitamin C

4. Calcium

Correct Option - 3

Que. 3 In the context of BRICS nations, which nation does the alphabet S represent?
1. South Korea
2. Spain
3. South Africa
4. Saudi Arabia
Correct Option - 3

Que. 4 What is the SI unit of electrical resistance?

1. Ampere
2. Ohm

3. Mole

4. Volt

Correct Option - 2

Que. 5 'Alexander the Great' invaded India in the year

1. 263 BC
2. 326 BC
3. 236BC
4. 362BC

Correct Option - 2

Que. 6 Which of the following states has the highest life expectancy at birth?
1. Andhra Pradesh
2. Jammu and Kashmir
3. Himachal Pradesh
4. Kerala
Correct Option - 4
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Que.7 The were the first Europeans to come to India.

1. French
2. Portuguese
3.  Dutch

4. English

Correct Option - 2

Que. 8 Name the Strait that separates India and its neighbour Sri Lanka.
1. Mannar Strait
2. Palk Strait
3. Malacca Strait
4. Cook Strait
Correct Option - 2

Que. 9 Who is the very first Mughal emperor?
1. Alam Khan

2.  Babur
3.  Mohammed
4. Akbar

Correct Option - 2

Que. 10 Name the Indian company which first touched a market capitalization of 8 trillion INR in the Indian stock

market.
1. Tata Consultancy Services
2. HDFC
3. Reliance Industries
4. 10CL

Correct Option - 3

Que. 11  Name the minister who is acting as Finance Minister on behalf the current Finance Minister Arun Jaitley who is
unwell.

1. Piyush Goyal

2. Suresh Prabhu

3. Ram Vilas Paswan
4.  Smriti Irani

Correct Option - 1

Que. 12 World Polio Day is observed across the world on which day?
L. October 24
2. February 14th
3. March 19t

4. January 23"
Correct Option - 1
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Que. 13 Who was the first scientist to be awarded two Nobel Prizes?
1. Albert Einstein
2. Thomas Edison
3. Marie Curie
4. Frank Templeton
Correct Option - 3

Que. 14 The idea of the provision of "Concurrent List" in the Constitution of India is taken from which of the following

country?
United States of America
United Kingdom
Canada
4. Australia
Correct Option - 4

wono=

Que. 15 In which state would you find the tribe called Kani?

1. Maharashtra
2.  Kerala
3. Madhya Pradesh
4. Punjab

Correct Option - 2

Que. 16  How many silver medals India won at the 18™ Asian games in Jakarta?

1. 24
2. 34
3. 44
4. 11

Correct Option - 1

Que. 17 Black soil is ideal for the cultivation of which of these crops?

1. Sugarcane
2. Wheat
3. Cotton
4. Paddy

Correct Option - 3

Que. 18 Renowned Musician Annapurna Devi is associated with which instrument?

1. Rudra veena
2. Sarangi

3. Veena

4. Surbahar

Correct Option - 4

The Taj Mahal is an ivory-white marble mausoleum on the south bank of river in Agra.
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Que. 19  Ganga
2. Yamuna
3. Saraswati
4. Tapti

Correct Option - 2

Que. 20 The first practical light bulb was invented by
1. Galileo Galilei
2. Alexander Graham Bell
3. Thomas Alva Edison
4. Isaac Newton

Correct Option - 3

Que. 21 Cobalt Oxide imparts which color to glass?

1. Green
2. Purple

3. Blue

4.  White

Correct Option - 3

Que. 22 Which of the following is an instrument of the monetary policy of the Reserve Bank of India?

1. Public Debt

2. Tax Rate

3. Government Expenditure
4. Repo Rate

Correct Option - 4

Que. 23 Vedic religion was also known as
1. Buddhism
2. Brahmanism
3. Jainism
4. Hedonism

Correct Option - 2

Que. 24  Apart from Mahatma Gandhi, who was the other prominent personality to protest against untouchability in

India?
1. Bhimrao Ambedkar
2. Subhash Chandra Bose
3. Jawarharlal Neharl
4. Bhagat Singh
Correct Option - 1

Que. 25 The Yamuna river flows parallel to the
1. Krishna
2.  Ganga
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3. Kaveri
4. Brahmaputra
Correct Option - 2

Que. 26 A number 5132832 is divisible by

1. 5
2. 6
3. 7
4. 9

Correct Option - 2

Que. 27 The sum of two numbers is 140. If their LCM is 240 and HCF is 20, then find the smaller number.
1. 60

2. 140
3. 20
4. 80

Correct Option - 1

Que. 28 Thevalueofl%%{[l—l+§(l—l X %)%15] +%}is

80 © 4\4 3 6
1. 1

2. 5

3.

4. 10

Correct Option - 1

Que. 29 Ifthe volume of a cube is 81+/3 cm?, then its total surface area is:

L. 166 cm?
2. 152 cm?
3. 164 cm?
4. 162 cm?

Correct Option - 4

Que. 30 Length of each side of a rhombus is 13 cm and one of the diagonal is 24 cm. What is the area (in cmz) of the

rhombus ?
1. 60
2. 120
3. 300
4. 240

Correct Option - 2

Que. 31 What is the perimeter of a right-angled triangle whose sides (making 90°) are 20V3 cm and 15V3 cm?
1. 65V3 cm
2. 60\3cm
3. 50V3cm
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4. 55V3cm
Correct Option - 2

Que. 32 Two circles of radii 14 cm and 10 cm intersect each other. and the length of their common chord is 16 cm. What
is the distance (in cm) between their centres?

6+44/33
6+2+33
6+ 5433
4. 6+3,/33

Correct Option - 2

wono=

Que. 33 Ravi’s age is 3/5 of Shyam’s ages. After x years the ratio of the ages of Ravi and Shyam becomes 5 : 7 If
initially the sum of their ages is 32, then what is the value of x?

wop=

8

2

7
4. 4

Correct Option - 1

Que. 34 The fourth proportional to 5, 8 and 30 is:

1. 50
2. 60
3. 48
4. 90

Correct Option - 3

Que. 35 A total of 57 sweets were distributed among 10 children such that each girl gets 6 sweets and each boy gets 5
sweets. Find the number of boys.

1. 6
2. 4
3. 3
4. 5

Correct Option - 3

Que. 36 Which of the following fraction is the smallest?

15 19 24 34
16720° 257 35
1. 19
20
2. 24
25
3. 15
16
4, 34
35

Correct Option - 3
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Que. 37 110% is equal to

1. 12.0
2. 115
3. 11.0
4. 105

Correct Option - 4

Que. 38 If Vx = 256, then the value of x will be

1. 14
2. 16
3. 18
4. 20

Correct Option - 2

Que. 39 The average of four consecutive even numbers is 27.Find the largest of these numbers.
1. 24

2. 30
3. 32
4. 28

Correct Option - 2

Que. 40 If40% of 40% of x is 40 then ‘x’ is

1. 100
2. 250
3. 400

4. None of these
Correct Option - 2

Que. 41 A sum of money becomes Rs 1500 in 3 years at a 2% simple rate of interest per annum, then in how many years
will it become Rs. 1800?

1. 162
2. 42
3. 133
4. 52

Correct Option - 3

Que. 42 A can do some work in 15 days and B can do the work in 30 days. A and B worked together. B did that work for
5 days and he left the work. In how many days remaining work will be completed in this way?

NI

F VSN 8
O O oo
N |
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Correct Option - 1

Que. 43 Two persons are standing on either side of a 1200 m long bridge, if they walk towards each other at the speed of
5 m/min and 10 m/min respectively, in how much time will they meet?

1. 60 min
2. 80 min
3. 85 min
4. 90 min

Correct Option - 2

Que. 44 The difference between the ages of Rahim and his uncle is 10 years. After 2 years if the sum of their ages is 66
years, then what will be the age of the uncle?

1. 51
2. 49
3. 36
4. 41

Correct Option - 3

Que. 45 There are some hens and goats in a field. The sum of all the heads is 77 and the sum of the legs is 248. The
number of hens in the farm is?

1. 25
2. 30
3. 40
4. 47

Correct Option - 2

Que. 46 f (x + 3) is a factor of a2+ 12x - 13, then what is the value of a?

1. 8
2.7
3. 6
4. 5

Correct Option - 2

Que. 47 Find the value of sin 60° cos 30° + tan 45° cos 60° sin 30°

Lo 5
2.5
301

4. 2L

2
Correct Option - 3

48 P-lopl
Que - lof > is equal to
sof5+%
. 1
2. 3
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Correct Option - 3

Que. 49 Five years ago, the average age of A,B,C and D was 45 years. By including X in the present lot their present
average changes to 49 years. What is the present age of X?

1. 40 years
2. 45 years
3. 49 years
4. 48 years

Correct Option - 2

Que. 50 If the ratio of the areas of two squares is 9 : 1, then the ratio of their is

1. 9:1
2. 3:1
3. 34
4. 13

Correct Option - 2

Que. 51 Find out the wrong number in the given series:
17, 25, 37, 50, 65, 82, 101

1. 25
2. 17
3. 101
4. 65

Correct Option - 1

Que. 52 Select the related number from the given alternatives.

46 :48 ::54 7
1. 59
2. 40
3. 67
4. 62

Correct Option - 2

Que. 53 Find the odd one from the following.
1. Day - Night
2. Clever - Foolish
3. Clear - Blurred
4. Arrive - Come

Correct Option - 4

Que. 54 In a code language, QUESTION is coded as NXBVQLLQ. How would REPLY be coded as in that language?
1. YHMOV
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2. OBMVI

3. VHSOB

4. OHMOV
Correct Option - 4

Que. 55 Five students A, B, C, D and E are sitting in a row. D is on the right of E. B is on the left of E but is on the right
of A. D is on the left of C. Who is sitting on the extreme left?

1. B
2. E
3. C
4. A

Correct Option - 4

Que. 56 In a particular code language 'ABASEMENT! is written as 'EECTEIBLS' then how '"ABANDONED' is written
in that language?

EECODKKDD
EECOEIBLC
EECODKKCC
4. EECTDLLCC
Correct Option - 3

wnen =

Que. 57 Vijay starts walking straight towards East. After walking 75 meters he turns to the left and walks 25 meters
straight. Again he turns to the left and walks a distance of 40 meters straight. Again he turns to the left and
walks a distance of 25 meters. How far is he form the starting point?

1. 115 meters
2. 50 meters
3. 35 meters
4. 140 meters
Correct Option - 3

Que. 58 Arrange the following cricket equipment in a logical and meaningful order.
1. Shoes

2. Helmet

3. Thigh guard

4. Chest Guard

5. Shin pad
1. 2,4,3,51
2. 2,5,3,4,1
3. 5,2,3,4,1
4. 2,5,4,3,1

Correct Option - 1

Que. 59 Find the wrong term in the series?
2,4,12,48, 240, 1444
. 240
2. 48
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3. 1444
4. 12
Correct Option - 3

Que. 60 Directions: In the following, series of numbers are given following a certain pattern. One term in the number
series is wrong. Find the wrong term.

1,3,7,15,27, 63, 127

1. 7

2. 15
3. 27
4. 63

Correct Option - 3

Que. 61 Three of the following four words are alike in a certain way and one is different. Choose the odd one.
1. Dead Sea

2. Philippine Sea

3. Arabian Sea

4. Bering Sea
Correct Option - 1

Que. 62 Complete the following number series by choosing the correct option.
240, 306, 380, 462, ?

1. 602
2. 586
3. 524
4. 552

Correct Option - 4

Que. 63 If'+' stands for 'subtraction', '+' stands for 'multiplication’, 'x' stands for 'addition' and '-' stands for 'division',
then which of the following equations will be correct?

1. 245x55+3+4+321-3=20

2. 920-10x5+131+210=530

3. 860-86+25+27x182=405

4. 973-7x12+17+4=85
Correct Option - 3

Que. 64 Seven people, P, Q, R, S, T, U and V, are sitting in a straight row, facing the north. Only two people sit to the
right of U. Only two people sit to the left of R. Only two people sit between U and Q. Only three people sit
between R and V. T is not an immediate neighbour of U. S sits to the right of U. Who sits to the immediate right of U?

1. P

2. S
3. R
4. T

Correct Option - 2
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Que. 65 Select the option figure in which the given figure is embedded (rotation is NOT allowed).

DBHH

Correct Option - 4

Que. 66 Select the figure from the options that can replace the question mark (?) and complete the given pattern
(rotation is NOT allowed).

ZIN
NE

L. *

AN
2. \\
ke /
4. /

Correct Option - 4

Que. 67 Select the figure that will come in place of the question mark (?) in the following figure series.
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Correct Option - 2

Que. 68 Select the option that is related to the figure (C) in the same way as figure (B) is related to figure (A).

B 4.

L@

» O

0 ©f

3 4.

A

—
Ll

|||

S
v
8
P
®
P
8
P

Correct Option - 2

(B)

v 4
(C)

Que. 69

In the given figure, what will be the number on the face opposite to 47, if the given sheet is folded into a cube?
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371474159
43

1. 37
2. 41
3. 59
4. 43

Correct Option - 3

Que. 70  Select the option that represents the correct order of the given words as they would appear in an English

dictionary.

1. Catalyst
2. Carrot
3. Calcium
4. Calculate
5. Calendar
4,3,5,2,1
4,5,3,2,1
3,4,5,2,1

4. 3,2,1,4,5
Correct Option - 3

wen o=

Que. 71 Select the Venn diagram that best illustrates the relationship between the following classes.

Doctor, Professor, Cardiologist

1 = Doctor, 2 = Cardiologist, 3 = Professor

Correct Option - 1

Que. 72 Based on the given venn diagram, which of the following statement(s) is/are correct?
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Potato

It

Fruit
I. Number of mango which are only fruit are 13.

II. Number of potato which are neither fruit and nor mango are 5.

1. BothIandII
2. Onlyl

3. Neither I nor II
4. Onlyll

Correct Option - 2

Que. 73 Three Statements are given followed by four conclusions numbered 1, 2, 3, and 4. Assuming the statements to
be true, even if they seem to be at variance with commonly known facts, decide which of the conclusions
logically does NOT follow(s) from the statements.

Statements:

All K are S.

No SisaB.

Some B are T.

Conclusions:

1) No K are B.

2) Some T are not S.

3) Some T are B.

4) All B being K is a possibility.
1. Only 2 does not follow.
2. Only 1 does not follow.
3. Only 3 does not follow.
4. Only 4 does not follow.

Correct Option - 4

Que. 74 Pointing towards the photograph of a lady, Varun said, "She is my father-in-law's son's only sister's mother-in-
law". How is Varun related to that lady?

1.  Son-in-law
2. Brother

3. Son

4. Husband

Correct Option - 3

Que. 75  Which of the following conclusions can be drawn on the basis of the given statements
Statement 1: Divya is taller than Viru.

Statement 2: Sneha is immediate shorter than Divya.
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Statement 3: Arvind is taller than Viru but shorter than Sneha.
1. Viruis taller than all of them.
2. Arvind is taller than Divya.
3. Viruis taller than Sneha.
4. Divya is taller than Arvind.
Correct Option - 4

Que. 76 He put across his ideas to the minister.
L. made available
2. strongly expressed
3. effectively conveyed
4. laid aside
Correct Option - 3

Que. 77 She is too fond of her own voice.

1. loves singing
2. very selfish
3. does not listen properly to anyone else
4. very talkative
Correct Option - 4

Que. 78 To shed crocodile tears.
1. to pretend grief

2. to weep profusely
3. to grieve seriously
4. to mock something

Correct Option - 1

Que. 79 Direction: In the following sentence, a proverb is highlighted. Select the alternative which best describes
its use in the sentence.

The kind old woman received the stranger with open arms.
1.  With her arms free
2. With warmth
3. With restraint
4. With gratitude
Correct Option - 2

Que. 80 Direction: In the following sentence, a proverb is highlighted. Select the alternative which best describes
its use in the sentence.

The sales of the company are increasing by leaps and bounds.
1. Very rapidly
2. In calculated ways
3. Very slowly
4. Far lesser than expected

Correct Option - 1
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Que. 81 Direction: Select the word that is nearly opposite to the words given.

w e =

4.

Chronic
pathetic
temporary
characteristic
mild

Correct Option - 4

Que. 82 Direction: Select the word that is nearly opposite to the words given.

wnen =

4.

Conceal
explain
show off
describe

reveal

Correct Option - 4

Que. 83 Choose the right word to fill in the blanks.

4.

1.
2.
3

I hanged my on the leg of the table.
two
toe
too

to

Correct Option - 2

Que. 84 Choose the right word to fill in the blanks.

w o=

4,

I always use when I make rotis.
flour
floor
flora

flower

Correct Option - 1

Que. 85 Choose the right word to fill in the blanks.

w o=

4.

My is very
deer, dear, deer
dear, deer, dear
dear, dear, deer

deer, deer, dear

Correct Option - 2

Que. 86 Direction: Select the word that is most similar in meaning.

1.
2.
3.

Solitude
aloofness
musical composition

true statement
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4. single mindedness

Correct Option - 1

Que. 87 Direction: Select the word that is most similar in meaning.

Relish
1. realise
2. taste
3. enjoy
4. reveal

Correct Option - 3

Que. 88 Direction: Select the word that is most similar in meaning.
Envisaged

1. ensured

2. idealised

3. created

4. contemplated

Correct Option - 4

Que. 89 Direction: Select the word that is most similar in meaning.
Infer

suggest

calculate

debate

4. conclude

wen o=

Correct Option - 4

Que. 90 Direction: Select the word that is most similar in meaning.

Camouflage
1. fabric
2. cover
3. demonstrate
4. disguise

Correct Option - 4

Que. 91 Read the passage and answer the questions that follow.

From the world of magic, hypnosis is moving into the world of medicine, from hocus-pocus performed by men in black
capes, to hypnotherapy practiced by doctors in white coats. The purpose is to help people stop smoking, lose weight,
overcome phobias, and control pain in a variety of medical situations, from childbirth to cancer. Research laboratories are
currently checking out the success rate of therapy under hypnosis, while medical journals stand by to publish the results.
And the important thing is, nobody is laughing.

In the 1840s, a British doctor in Calcutta created a controversy by performing over 1000 operations with hypnosis as the
only anesthesia. During the World Wars, German and British doctors used hypnosis to treat war neuroses.

What is the meaning of Hypnosis?

1. A trancelike state
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2. Autosuggestion
3. Anesthesia
4. Hocus-pocus

Correct Option - 1

Que. 92 Nobody is laughing at hypnotherapy now, because they are
1. Angry
2. Taking it seriously
3.  Annoyed
4. Sad
Correct Option - 2

Que. 93 The purpose of hypnotherapy is to
1. Cure patients
2. To help people
3. Carry out research
4. Check out the success rate

Correct Option - 2

Que. 94 German and British doctors used hypnosis:
1. As anesthesia was not available
2. As anesthesia was not needed
3. To treat war neuroses
4.  As it was fashionable during the was period
Correct Option - 3

Que. 95  What is the meaning of word 'Phobia'?

1. Fear
2. Love
3. Mania

4. Neurosis
Correct Option - 1

Que. 96 Identify the part of the sentence that has an error:

The shark attacked the swimmer when he go deep into the sea.

1. The shark

2. deep into the sea

3. attacked the swimmer
4. when he go

Correct Option - 4

Que. 97 Directions: Identify the part of the sentence that has an error.

The greatest merit of democracy is that everyone feels free and can pursues his/her interest.

1.  The greatest merit of

2. democracy is that
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3.
4.

can pursues his/her interest

everyone feels free and

Correct Option - 3

Que. 98 Directions: Identify the part of the sentence that has an error.

wo =

4.

She would resign sooner then take part in such dishonest business deals.
sooner then
She would resign
take part in such dishonest
business deals

Correct Option - 1

Que. 99 Directions: Identify the part of the sentence that has an error.

1.
2.
3.

4.

She was taller than either of her five sisters.
She was taller
five sisters
of her
than either

Correct Option - 4

Que. 100 Directions: Identify the part of the sentence that has an error.

woo=

4.

Rather than go with Amit, he decided to stay at home.
with Amit
Rather than go
he decides
to stay at home

Correct Option - 2

Que. 101 STST TN fobd HTHT & oRefeh A2

1.
2.
3.
4.

EPKl
ESIEIN]
EIR|
3fafy

Correct Option - 3

Que. 102 I by N BT g B

1.
2.
3.
4.

gt
BRYT

3RS
H&pd

Correct Option - 1

Que. 103 ¥ sg H HH Ul &1 §

1.

gad @i
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2. gad @
3. g @i
4. I Y B

Correct Option - 3

Que. 104 T U T & SNV § 59 16 & B W I 8

1. Ygarad
2. Hfaqars
3. GHdd®
4. GEAED

Correct Option - 3

Que. 105 A IIW e ST AR A HH I fpar e

. 3pHb
2. TgHHSB
3. WRunde
4. fgodd

Correct Option - 1

Que. 106 T Trec FOH o7, T, PR 3N P BRI BIS YR el BIdT, I BT SIldl 82

1. fo=iwor
2. 3JAg
3. PRD
4. fopar faxuo

Correct Option - 2

Que. 107 ool Yec, 7 T e 22

l. da+o=
2. gad+dH
3. dd+dH
4. a?[+f*ﬁ:l

Correct Option - 4

Que. 108 ARG H IUT &

L gu
2. ¥
3. ”
4. R

Correct Option - 4

Que. 109 3R Ysq BT THH eg fe I@Q
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L. 3y
2. TR
3. oW
4. Inf¥a

Correct Option - 1

Que. 110 Hireft o7 vafgareh wss §

L e
2. gt

3. Ozdl
4. et

Correct Option - 2

Que. 111 T[R9 &7 I st

1. drgg
2. qYdl
3.
4. a’gﬁ'ﬁ[

Correct Option - 1

Que. 112 5 et @ M@ AT &1
1. 99R

2. g
3. fafda
4. 3eTaare

Correct Option - 3

Que. 113 Wﬁmgﬁ‘q
AT ¥ TR Bl e

I fdepfla

2. gHg
3. IR
4. gv

Correct Option - 4

Que. 114 Wﬁwaﬂﬁq

9 A 39 afgar i Ry faan Aol A HHM & AT Igd URed St 8

1 oA

2. o9
3. ofgtf
4. W
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Correct Option - 4

Que. 115 FgfarRad aredt # Y a1 8-
1. fipw P Pl TH I
2. WITaH HHW & b A BT I g |
3. fiPUI B D! AH P I A 3|
4. SipW P 3 TH T

Correct Option - 4

Que. 116 37 I YT &1 3 §
1. gff & g & W I3

2. rgdst gl
3. Wi g &
4. WA IPR 9T

Correct Option - 4

Que. 117 f3Q Y Uy H a1 o Ugel 3R SHfH HIT B A (1) 3R (6) B WS <l 7T & | F7b oitdl H 3 a1ed
32T BT IR YT H Siea (), (), (@), () DI 91 &Y 7S 31 37 fauifrd yeil &) egd e g oy 1Y

fasmenl o I Iferd oH &1 gH1d DI

SO &1 oraTlt (@) FET T aH1 (@) H T 99y &1 ) 8 9%a(@)
. 99,473

2. R, U, d, q

3. 9,9,3d

4. R, d, 4,9

Correct Option - 3

Que. 118 TS P HigHT 3fd, 3Fd fbal STR|
e 3Fd IS, 3Fd f[GEaueR ||

2 dfgaal § o a1 v At g2
I3 )
2. AN IR
3. IMd3g
4. dRIg

Correct Option - 3

Que. 119 e fHdd YR & Bid 82

1. 2
2. 5
3. 3
4. 6

Correct Option - 3
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Que. 120 TI.YNR, A TGN F3-I8 3|
TR iRl § B9 97 SrdeR 32

R e

2. TUH

3. Y

4. gopifad

Correct Option - 2

Que. 121 f=qrafor & TR 8-
. giEmH<a o<

2. HgTr FARTe

3. HTS o

4. HgIedt Al

Correct Option - 3

Que. 122 QU T TR DI UGHR U & foTT Tg1 SR BT I DIfoIC:

TTeRUT & Ufd Text HagTRiterdl Uri-epTer & 8 feidlt 81 rudds H o & - 4ff #idl 8, 89 Yol 1 HaH & | b
R &R gg 4t feran 8 fob 8 ufdd ) arell 4f#, 59 1S T4 1 7 b Rl ok ged 1 31 ug | ged ol
3{TITd g &1 I8 oY § ot & URIRUTIS! dF & W R D818 | 8 WP Sl & SIHiad SR
SRATHA GG I S G131 SHTARYehll 58 &1 Bl & fob fa% b THIH Y STerarg TR o THR TR Bl AR
SO AANE Yl & 3R Srul-31oet e SAMeRY ¥ AT, arfes Tra Ygd Td-Ter 3 Ia1 o b | fay famre
3 e & forg Ifes Ud afaaid Tl &1 oRevd ¢ | S SR H STGIa 8130 & | SRUT-IGH & 9Gd 3RUT-
TREUT DT 91 BT B! &, TaHd H SR & 1T Geaft &bt &M =1 1T | YfH AT © 3R 8 SUD! I - 59 HUA
&1 ARATd HAT g |

forer 9 & foran gon & Y AT §, 59 9ol &1 W 82

I IR

2. 3ydq

3. Tgdg
4. g

Correct Option - 2

Que. 123 U T TR I UG WY o AT T IR BT 9T BT

TafeRUl & Ul TRt Yag-=ied Ure-era 9 g fidd 8 | siudde # forar § - Y A1 €, g9 gt 1 I § | T
I W gg W foran § b 8 ufdst & arefl {1, &1 IS U1 b1 = 3 Fored X ey @1 3MTHTd Ugd | gad ®1
3{TITd Uga &1 I8 314 § Tt & URIRUTIS! dF & U R D818 | 8 WP Sl & SIHiad SR
SRAHA Qg & F9-1 gRT | 3T SHTIRIH I 39 S1d B g b fay & ToH AP Serarg uRacH & 1R @R DY A
SO FANE Yl & 3R Sru-3oet e SAMERY ¥ AT, arfes T Ygd [T ¥ IaR1 o b | fay famme
I fAuen & fore arfes e afdara vaml & Tevd © | 39 Rxn I siala 818 § | 3RUGINeH & 98 3RUY-
TREUT B 1A B Xe! &, TIT g0 TR P o1y gealt ot veqm Bt Rt | Hffy H1elT § 3R g1 ST A - 39 HU
! ARATS HAT AT |

URIHTd Ve fhaa o) I fiddR ST 82
.4

2. 3

Page- 24


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

3. 1
4. 2
Correct Option - 4

Que. 124 3T T TR 1 UGHhR YUY o [T Tl ITR b1 T Bifoiy:

gaferur & Uf Tt Gag=edr uriFea 9 g fiadt 81 siudde H ferar § - Y Arar 8, s gt pl Iae § | U
R R gg Ht forar 8 b 7 ufds 7 arelt Y, 50 PIg YT H1H 7 H R Ok g8 1 3MToTd Ug < | g&d &
3T UgaM 1 Uef 31 & Jedt & uRTRIRYST o7 & 1Y PR SSoTS | 84 Uil eI & Ui 3R
ST Q15T A T GRT | 31Tl STARADH T 9 S P § 1ob 19y & THH Y Ay URadH & THR Tk Pl dax
TR HaNE Yl & 3R 3oeit-3u-t et SHMeRt | AT, arfes Iwg Ted Ta-T & IeRT ST I | fay faams
3 fAgen & fore Irfeed wd safaaTa Tl &) Sed § | SU SR H SeIe- 81 E § | 3RUFRIG & 95d 3RUY-
TREUT B! 91 81 381 &, TIYd gH SRS & o ol Bt e =it gift | Ul A1l § 37K 89 S A - 39 B
! ARATS HAT BRI |

THTa & SAfIE qlg A forg a1d &1 TavT UeT 8 Taval &2

L gam

2. fofero

3. Har®ed

4. Hod TR

Correct Option - 1

Que. 125 fQU TR TR Bl Ugdhx UY o folU Ugl IR BT 9T Difoid:

gaferur & Ui Tt Gag=iedr ureiFee 9 g firadt 81 srudde H ferar | - Y Arar 8, s gt pl IaF § | U
RIM R gg Ht forar 8 s 7 ufes -7 arelt Y, 50 P1g YT H1H A H- o Ok g3 1 31T Ug < | g&d &l
3T UgaM 1 Uef 31 & Jedt & uIRTRIYeST o7 & 1Y 6% SSOTS | 84 Uiplae LI & Ui 3R
SRAHT Qg1 A T GRT | 31161 STIRADH T 39 &1 P! g 1ob (A & THH Y STy URadH o THR Tk Pl da
SO AANE Yl & 3R U130t foTieRt SAMERT ¥ AT, a1fes T Y8 [a-1=1 ¥ a1 o o | fay fomme
T e & forg Igfes Ud safdard vl & sRed § | 39 R H STia 812 | | SR & dgd 3RUG-
TREUT B! 91 B 351 ©, T gH SRS & o gt &t & =it gIiT | YfHy A1l © 3TR 9 S A - 59 B
DI AT &A1 R |

3RUGRIE Y AW BT T Ay 82

I g IReo

2. SRUGHIA

3. VAR R BIS AFAAE

4. 3RUY I ST

Correct Option - 3
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